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QUESTION 1

Given INTRA_PARALLEL is OFF, average row length is 900 bytes, and temporary table cardinality is 1000, which
setting would prevent a SORTHEAP overflow when the temporary table is sorted?

A. SORTHEAPTHRES 10000K, SORTHEAP 250K

B. SORTHEAPTHRES 10000K

C. SORTHEAP AUTOMATIC, SHEAPTHRES 10000K
D. SORTHEAP AUTOMATIC, SHEAPTHRES 0

Correct Answer: D

QUESTION 2

A DBA wants to migrate a DB2 LUW 8.2.2 database to version 9.7 and plans to use currently committed
(CC)

semantics on an application-by-application basis. Which process will yield the desired results?

A

Set the DB2_USE_CC_SEMANTICS registry variable to YES, then migrate the database.

B.

Migrate the database, then assign the value ON to the CURR_COMMIT configuration parameter.

C.

Set the DB2_USE_CC_SEMANTICS registry variable to APPLICATION, then migrate the database.

D.

Migrate the database, then assign the value AVAILABLE to the CURR_COMMIT configuration parameter.

Correct Answer: D

QUESTION 3

At which two levels can events be audited? (Choose two.)
A. Instance level

B. Database level

C. Server level
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D. Operating System level
E. Node level

Correct Answer: AB

QUESTION 4

In which two environments would intra-partition parallelism be used? (Choose two.)
A. Single database patrtition, single processor core

B. Single database partition, multiple processor cores

C. Multiple database partitions, single processor core

D. Multiple database partitions, multiple processor cores

Correct Answer: BD

QUESTION 5
Which statement about compression and temporary tables is NOT correct?

A. When executing queries that require temporary tables, DB2 considers the storage savings and the impact to query
performance to determine whether compression is worthwhile.

B. Compression is only applied to created temporary tables that were defined with the CREATE TEMPORARY TABLE
?COMPRESS YES statement.

C. The minimum size that a table must be before compression is used is larger for temporary tables than for regular
tables.

D. The explain facility and the db2pd utility can be used to determine whether a temporary table has been compressed.

Correct Answer: B
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